



St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:54 PM

General Details

 Parcel ID:
 215-0010-05653

 Document:
 Abstract - 01161293

Document Date: 04/14/2011

Legal Description Details

Plat Name: ANGORA

Section Township Range Lot Block

33 61 18 - -

Description: S 318 FT OF NW1/4 OF NW1/4 EX 3 ACRES FOR HWY & EX ELY 380 FT & EX THAT PART SHOWN AS PARCEL

25 ON MNDOT R/W PLAT #69-111

Taxpayer Details

Taxpayer Name ROTHLEUTNER JONATHAN & CHRISTINA

and Address: 8462 HWY 53

ANGORA MN 55703

Owner Details

Owner Name ROTHLEUTNER CHRISTINA E
Owner Name ROTHLEUTNER JONATHAN P

Payable 2025 Tax Summary

2025 - Net Tax \$1,465.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,550.00

Current Tax Due (as of 12/16/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$775.00	2025 - 2nd Half Tax	\$775.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$775.00	2025 - 2nd Half Tax Paid	\$775.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 8462 HWY 53, ANGORA MN

School District: 2142
Tax Increment District: -

Property/Homesteader: ROTHLEUTNER, JONATHAN & CHRISTINA

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	the state of the s										
201	1 - Owner Homestead (100.00% total)	\$27,600	\$218,700	\$246,300	\$0	\$0	-				
	Total:	\$27,600	\$218,700	\$246,300	\$0	\$0	2219				





St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:54 PM

Land Details

Deeded Acres: 5.03 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

0.00									
					vTav@stlouiscountyma.gov				
Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.					
2007	1,40	08	1,408	-	RAM - RAMBL/RNCH				
Story	Width	Length	Area	Foundation					
1	21	32	672	-					
1	23	32	736	-					
0	21	10	210	-					
Bedroom Coun	t	Room C	Count	Fireplace Count	HVAC				
2 BEDROOMS		5 ROO	MS	0	C&AC&EXCH, ELECTRIC				
Improvement 2 Details (ATT GARAGE)									
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Code & Des					
2007	78	4	784	-	ATTACHED				
Segment Story Width Length Area Foundation									
BAS 1 28 28 784 FOUNDATION									
	Improver	ment 3 De	tails (30X48 P	'B)					
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
2016	1,4	40	1,440	-					
Story	Width	Length	Area	Foundation					
1	30	48	1,440	POST ON GROUND					
Im	proveme	ent 4 Deta	ils (GABLE10	X16)					
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
2017	16	0	160	-	-				
Story	Width	Length	Area	Foundation					
1	10	16	160	POST ON	GROUND				
1	6	10	60	POST ON	GROUND				
	Improve	ement 5 D	etails (9X9 ST	<u> </u>					
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	81	1	81	-	-				
Story	Width	Length	Area	Found	lation				
		_		POST ON GROUND					
	Year Built 2007 Story 1 1 0 Bedroom Count 2 BEDROOMS Im Year Built 2007 Story 1 Year Built 2016 Story 1 Im Year Built 2016 Story 1 Year Built 2017 Story 1 Year Built 2017 Story 1 Year Built 2017 Story 1	respond to the survey quality. A gov/webPlatsIframe/frmPlatStatPop Improve	ot guaranteed to be survey quality. Additional lot gov/webPlatsIframe/frmPlatStatPopUp.aspx. If to Improvement 1 D Year Built Main Floor Ft 2 2007 1,408 Story Width Length 1 21 32 1 23 32 0 21 10 Bedroom Count Room Count 2 BEDROOMS 5 ROOM Improvement 2 Deta Year Built Main Floor Ft 2 2007 784 Story Width Length 1 28 28 Improvement 3 Deta Year Built Main Floor Ft 2 2016 1,440 Story Width Length 1 30 48 Improvement 4 Deta Year Built Main Floor Ft 2 2017 160 Story Width Length 1 10 16 1 16 10 Improvement 5 Deta Year Built Main Floor Ft 2 2017 160 Story Width Length 1 10 16 1 16 10 Improvement 5 Deta Year Built Main Floor Ft 2	Improvement 2 Details (ATT GAR/Year Built Main Floor Ft 2 Gross Area Ft 2 2007 784 784 Story Width Length Area 1 28 28 784	Improvement 2 Details (ATT GARAGE)				





St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:54 PM

			Improven	nent 6 De	tails (RESIN ST)				
1	mprovement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.				
S	TORAGE BUILDING	2008	40 40		-	- -				
	Segment	Story	Width Length Area		Foundati	ion				
BAS 1		8 5		40	POST ON GR	ROUND				
	Improvement 7 Details (CONEX)									
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
S	TORAGE BUILDING	1995	320 320		-	-				
	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	1	8	40	320	POST ON GR	POST ON GROUND			
	Improvement 8 Details (RED 8X20ST)									
1	mprovement Type Year Built Main Floor Ft ²			Gross Area Ft ²	Basement Finish	Style Code & Desc.				
S	TORAGE BUILDING	2015	160	0	160	-	-			
	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	1	8	20	160	FLOATING	SLAB			
	LT	1	7	20	140	POST ON GR	ROUND			
			Improvem	ent 9 Det	ails (12X20 FAE	3)				
ı	mprovement Type	Year Built				Basement Finish	Style Code & Desc.			
S	TORAGE BUILDING	2005	240		240	-	-			
	Segment	Story	Width Length Area		Foundati	ion				
	BAS	1	12	20	240	POST ON GR	ROUND			
			Improveme	nt 10 Det	ails (BRL SAUN	A)				
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	BARREL SAUNA	2023	36	;	36	-	-			
	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	0	6	6	36	POST ON GF	ROUND			
		İı	mprovemer	nt 11 Deta	ils (COVRD DE	CK)				
ı	Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.									
	GAZEBO	2022	30	0	300	-	-			
	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	1	10	30	300	POST ON GF	ROUND			
	Sales Reported to the St. Louis County Auditor									
	Sale Date Purchase Price CRV Number									
	04/2011		\$136,000				193253			
	11/2007		\$10,000				179906			
	1 1/2501			ψ.0,0						





St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:54 PM

		A	ssessment Histo	ory			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	
	201	\$29,600	\$198,600	\$228,200	\$0	\$0	-
2024 Payable 2025	Total	\$29,600	\$198,600	\$228,200	\$0	\$0	2,022.00
	201	\$24,600	\$185,600	\$210,200	\$0	\$0	-
2023 Payable 2024	Total	\$24,600	\$185,600	\$210,200	\$0	\$0	1,919.00
	201	\$24,600	\$163,200	\$187,800	\$0	\$0	-
2022 Payable 2023	Total	\$24,600	\$163,200	\$187,800	\$0	\$0	1,675.00
	201	\$24,600	\$137,900	\$162,500	\$0	\$0	-
2021 Payable 2022	Total	\$24,600	\$137,900	\$162,500	\$0	\$0	1,399.00
		•	Γax Detail Histor	У			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV		otal Taxable MV
2024	\$1,685.00	\$85.00	\$1,770.00	\$22,456	\$169,422 \$191,8		\$191,878
2023	\$1,501.00	\$85.00	\$1,586.00	\$21,936	\$145,526	6	\$167,462
2022	\$1,401.00	\$85.00	\$1,486.00	\$21,176	\$118,709 \$13		\$139,885

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.